“Holl No-

Name

.

Time Allowed: 20 Minutes

Physics Paper-XI {01) (17y

-(,{:/flfbUls..'afﬁé’-d/rwii..vd_ﬂul;&: le.dfrﬁ-l'
A dbz'ub’_{/z_ﬂ LA L 082 w2
e i e i LI L2

~ SECTION- A Marks : 18
Lr:l 2pg|;olhermat chlange, mtemall o) Increasés o D,ecré-as_es'. ; : @ Remiins st O F— iéro
TP the perfod of oscillition of mass (W) . » A
suspended from a spring'is 2 seconds, ) 4 seconds O 3seconds O 2seconds QO 1 second
then the period of mass 4 M will be.... - :
L One horse power is given by..... O M6KW O 746 MW © 746 watls O 746} !
* Whatis the ratio ;—g% @® 10" O 10-% O 10-° O 10_3,
The crilical veloeily of an artificial e '
satellite is..... O 7.9mis @ 79kmss O 8somis O None of these .l
Soap bubbles In sun light appears ‘ e - e P
coloured due to .. : ® interference O Diffraction O Polarization . Reflection
Which physical-quantily produce ' . ‘ ,
angular acceloration? .y QO Force O Power O Torque @ None of these
A projectile travels the same range for ‘ -
the pair of angle .. T O (w00 O (est,3°) ® (40°,50°) O Noneofthese
Components of veclor which makes _ N
ananglo of .....wilh each olherare Q459 © 60° O go° O 180°
called rectangular components. L : ]
L For adiabatic process, whichis true? (O AT=10 ® AQ=0 O AV=0 (O None of these
‘Waork cioné will be negative when 0 o o .
angle is...... | O 30 ’ O s Q® 20 Oo
The time period of simple pendulum ' ; ' . F
does nol depend upon.. ... O Gravity QO Length @ Mass O Frequency
When sound waves iravel from air (o ) _
water, Which of these remains O Wavelength O Amplitude QO velocity @ Frequency
constant? : ' :
A projectile is throwrLsadhal it fravels . ‘
a maximumrange of 1000m, How (O 400m Q 800m O 500m © 250m
high will it rise? , '
For which angel the equétion ‘ _ : :
- it . 0 0 0
|&.B| =& x B| is correct? © 90° O &0 o 45 O 10
L Which one is the least sub multiple? - O Pico QO Nano O femlo @ Ato
Wil tho Tcrease of temperalure ' - ‘ ; ble
viscosily of 1uid...... ® Decrea;es O Increases O Remainssame O Dou | s-
-4 Atnodes velocity of vibraling pariicles O Maximum O Minimum ® o O Negalive
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PHYSICS (New)

Inter Part — |
(Fresh/Reappear)

Time allowed for Section - B and Section ~ C is 2 Hours and 40 minutes,

Section ~ B - , Marks: 40

Attempt any TEN parts. Each part carries FOUR marks. -

1.
2.

3
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10.
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13.
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{b)

Qv (a)

Qv

(b)

Find the dimensions of Kinetic Energy.
State the two conditions for equilibrium. - .
* Aeroplane while horizontally drops a bomb when -reaches exactly above the target.,
But missed it. Explain.
A man d'rops acup from a certain height, which breaks into pieces, what energy
changes are involved. '
A body will be weightless when the elevator falls down Just like a free falllng body Explain.
How do the pulsations in pulse show the heart beat?
Give two applications in which resonance plays an important role.
Is it possible for an object whichis vibrating transversely to produce sound wave?
A soap bubble fooks black when it bursts. Why?
Write down four conditions to abserve iriterference of light?
Entropy has often called as “Time arrow”. Explain briefly.
Find the efficiency of a Cornot's heat engine working between the steam and ice points.

Why a car has oblong shape design?

" Section-C ' ' Marks: 27
Note : Attempt any THREE questions. All questions carry eqgual marks. _

Define centripetal acqeieration. Also derive expression for centripetal acceleration. 5
What is the moment of inertia of a 100 kg sphere whose radius is 50 cm? 4
Prove that the projection of a body motion in a circle describes S.HM. 5
What should be the length of simple pendulum whose time period is one second? 4
Explain stationary waves, 5
Find the speed of sound in Helium gas at 27°C. (y=.1.66 and R = 8334 jik mol). 4
Define linear momentum. Show that the rate of change of momentum is equal to 5
the applied force.

4

A 1500 kg car has its velocity reduced from 20 m/s to 15 mls |n 30 s.’How large is
the retarding force. :



